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1) ROFHEZELESL, (2R X10%)

1) —3x+y—9x—4y 2) 7x2—6x—6x2—8x

3) (15x+20y)+5 4) (3a°—4a)x(—7)
5) 1.2x+0. 2y+1. 8x—0. 9y 6) 6(3a —4a)—5(a +a)
7) 3ax2b 8) 24xy-+8y

a—2b X (—4)

9 (3a—b) + §<a+b> 10)
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2) ROFEZELGED, (2R X108

1) (x+2y)+(3x+4y) 2) 8(3a—b)—6(3a+b)

3) (0. 8x+1. 2y)—(1. 3x+0. 9y) 4) (8x—10y)=(—2)

5) 2(x+y+1)+32x+y+2) 6) 3(a2+2a)+4a2+a

7) —18ab+(—6a) 8) (—1 2ab)x(—%ab)

a+2b

3 1 7 5
9) EX + 7y - (EX - ﬁy ) 10) 3a+b-— 2
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3) ROEHEZELGED, (2R X108

1) —4.7x+3.6y—2. 1x+1. 8y 2) 3a—2b—5a+b
3) (5x°+3x)+(4x"+8x) 4) 4a°+5a+8a +7a
5) (5x+y)—(3x—7y) 6) (2a—6)x%x9a
7) (—2xy)” x3xy 8) —(2x +6x)+2x
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4) ROFEZELGED, (2R X108

1) (3a+b)x4 2) (6a"—8a)—(7a"—11a)
3) 0.7a+0.8b—1.3a—1.4b 4) —(2x—=5y)+(7x—y)
5) 3(a+2b)—4(2a—3b) 6) 8x—3y+4x—2y

7 —(2x2y3)2 8) (4x2+8x)+(—4x)

3a—2b

2 —a—3b

1 3 3 5
Q)G(EX_Ey)+12(ZX+§y) 10)
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A

1) (0. 4a—2. 2b)+(3. 8a—1. 1b)

3) —2x+4y—5+x—5y+3

5) 5a—2b—2(4a—b)

7)  —4abx(3ab’)’

1
9) ZX+

1
¥t

1
2

5
X+6y
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2) 2a+3b+4a+b

4) —(4x+5y)—(7y—2x)

6) —4(3a+2b)—5(2a—3b)

8) —16xy+( —gx )

2 1
10) §(a+3b) - Z(2a+b)
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1) ARE—m@E (2K X10%) A =]

1) —12x—-3y 2) x2—14x 3) 3x+4y 4) —21a2+28a

5) 3x—0.7y 6) 13a°—29a 7) 6ab  8) 3x

9) 1936‘b 10) —2a+4b

2) KE—RE (2R X108 A =]
1) 4x+6y 2) 6a—14b 3) —0.5x+0. 3y 4) —4x+5y

5) 8x+5y+8 6) 7a-+7a 7) 3b 8) 2a'b

1 1 11a+2b
9) _EX + Ey 10) 2
3) KE—#RE (25 X10/) R =]
1) —6.8x+5.4y  2) —2a—b 3) 9x°+11x  4) 12a°+12a
2 3 3
5) 2x+8y 6) 18a —b54a 7) 12x'y 8) —x—3

4 _ i —-x=7y
9) §a 12b 10) BT
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4) KE—RE (2Rx10%#)

1) 12a+4b 2) —a +3a
5) —5a+18b  6) 12x—5y
9) 11x+11y 10y 2%
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5) &E—ME (2R X108

1) 4.2a—3.3b 2) 6a+4b
5) —3a 6) —22a+7b
3 7 2a+21b

3) —0. 6a—0. 6b 4) 5x+4y
7) —4x4y6 8) —x—2

R =]
3) —x—y—2 4) —2x—12y
7) —36a'b’ 8) 12y



